F | QSthCk y Year 4 Monday

) Whatis 10 X 77
Wor‘k out qO - |O What’s the time?

What is seven multiplied by one?

Find the perimeter of -3 cm

the rectangle. 12 cm
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What is 3 X 127

Flnd 36 - 6 What’s the time?

Six divided by six is equal to?

Find the sum of 3,482 and 1,963
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Work out 3 X 3 X Y
What is nine multiplied by eight? What's the time?
12 =+ | is equal 1o?

Work out 3,924 — |43l
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Complete the factors of 15
| 3

“a

th'l' is 7 X 3’> What’s the time?
Work out fifty-four divided by six

q kilometres = metres
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Write all the factors of 8
Wor‘k OU'I' 8 x " What’s the time?
What is ten multiplied by 8?

3,000 m = km




